=3 £ %
5 20 67% 1'l:‘l:|_,=:',|]
S 6 20%
EON 4 13%
&t 30 -
&
20% 5 Bz
67%
ER & o
10X LA TF 0 0% E 2000 iU s
201{ 0 0% 80t 3% 0% 0% s0ft E‘t
304K 2 7% 3% 70 m 101X LU
401X 2 7% 404% T{'E
501% 6]  20% 7% =20
601 9 30% 704% u 300t
704 9 30% 30% )
80t 1 3% 52%‘j a0ft
REEA 1 3% ’ .
,'%.E_I_ 30 m 501
20% m601%
B his iy
PRI #h X 1) 37% " BEME s EHR
ER 6]  20% E'?;@'Z 3% 3% B 2thist
Bt X 5 17% ’ m EEX
= [ X 3 10% 2""’“"7“;'@"_—‘
e T ° SRR SRS
2 1 X T - 37%
= i X i 3% Ef'oﬁf'z ~  EEHR
ok i X 1 3% =0 R
&t 30
B KRR X
X
17% A X m X
20%
EZTHI-T- R
IBEREIEDS 13 30% S =3 -
oo A ETHI-T=
HREY 8] 18% MHRH P (BEHEE)
BASEE 6 14% F55 7|%
Fov 5] 11k 11% TRERH(ED = KHBIES
&5t 44 = 51N
BA<RE ~
14% wEafEY
BiA<mE
ELEY HIA B

18% 20%
0




REREE %
R 5 17%
B
DO E 7] 23% RO - N2 E
=8 1] 37% 17%
zj’fﬁfﬁ 3(7) 23% —
m PR
#; mEE
. PREcr -
37% PROBE
23%
EHESHMERFME |3
TERL 23 77%
=R 5[ 1% U TE 15 & 25 B
£0 2 6%
a8t 30
ETER
Ly
miEL
TEERW
77%
ERXRBSER (&
TERL 16|  53% -
— kKA
(=R 5 17% 17% Eifﬂﬁﬁﬂ#ﬁaﬁ
L 4 13%
XREEA 5 17%
8 TEAW
&at 30 c39
E0 ETERWL
13% R 1A
FE A
= REA

Eu
17%




